Job 51275: Beampipe-averaged Cloud Density (10™ m™)
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Central 5-sigma density prior to filled bunches (1012 m'3)
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Central 20-sigma density prior to filled bunches (1012 m'3)

X 10
0.8

0.7

0.6

0.5

0.4

0.3

Electron Density (1012 m'3)

0.2

‘ I N | ‘ I ‘ I I ‘ I ‘ I ‘ I | ‘ I ‘ L1 1

0.1

LR

200 400 600 800 1000 1200 1400
Time (ns)

o



10 -5 17/01/02 09.56
X
Central 100-sigma density prior to filled bunches (1012 m'3)
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Beam-averaged density at peak bunch current (1012 m'3)
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Central 20-sigma density at peak bunch current (1012 m'3)
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dE, /dX at Center (kV/m°)
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Job 51275: Field Gradient dE,, /dX (V/m®)
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Job 51275: Field Gradient dE /dX (V/m)
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Job 51275: Field Gradient dE, /dY (V/m®)
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Job 51275: 50 Central Density (10 m™)
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Job 51275; Beam-weighted Density (10™ m™)
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